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ressure e bottom of a pool of n,g-mmnm
— ﬁ?h\-mﬁ;fn;(;hﬂ)wgnmhmng;hwm exerted vertically
‘on the bottom of the pool of area.

F,=PA ~ng
1.00 x 10° kg/m*) (9.81 m/s*) (3.0m) (5.0m x 10m)
5x10°N.

e bm
Fy —/ﬂ,yV.. which gives V,/V = p,_/p,. T

' submerged is V, /V/; hence the fraction of ts volupee th
is visible (i.e. nbm.Lhe-lwul)hn iven by
% P 0.92 X 10° kg/m?
P/ T =010=
1-3 P IO X o gs = 010 = 10%.
For fresh water, replace X 10°kg/m® in the formula above to obtain the ne
_M;ML% -~
2.8
onsider 8 tube of flow of the sir which start far from the building, where P = P, andv=
o ends up a the top o the roc (T), where P = 7, and v = v, Equat
P,=P,+‘pv:,wblnp—lllg/m'hthedlmlyof&emlndu,=sﬂm/lnnnmm-
Inside the building the air
P apard preanre exerted on the roof s then AP = P, - Py = P, - (P < ;w’)_;p.
which results in & upward lifting force , on the roof of aces 4,

F,=AAP= ~Apv,, = ~(220m’)(l 1kg/m’)(50m/e)? = 3.0 x 10°N,
‘which is equivalent to 68 x 10° b,
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Abply Bernoullis Equation to poiats 2 and 3: P, + §p03 4 pgy, = p+gmﬂ+m. No
that v, = m[n-l’mhlan(ﬂlll)]mmu,—vv v, and P, (since tk
water at locations are exposed to the the air). snmummu.mmmmu
Pamhnoobm::

i :
Put 30 (V) = Bt i oy
\/Zgh y Svﬂbvmu‘lyyunnm.mh This is expected fron
conservation of points 1 and 3. To express y in terms of v, and 6
note that v, ,eaF \/lgh y,vhldi'lehlvulﬂy

i v’u-ﬂ v’—-:gu-’l

Solve for v,

2, 2
_._:;‘ ¢ =L";;”‘ ® — hen%,

‘where we used u? = 29h and 1 — cos? 6 = sin?,




